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CO,
20 1/20
1990
20 2010 Cc02 178  t-CO,
1990 CO, 12,400  t-CO, 1.4
2010
CO, 418 t-CO, 1990 CO, 3.4

e 2010 CO,

2010 1t/h 111,542

2010 A 11,256 kL/

2010 1t/h 24,905

2010 A 2 534 KL/

20
39.1MJ/L? 21.183MJ/L
CO,
21.183MJ/Lx 20 =+ (39.1MJ/Lx (100 20 )+21.183 MJ/L x 20 ) 0.119
Co, 71.6g-CO,/MJ"™*

CO, 534 kL/ x 0.119x 71.6g-CO/MJx 39.1MJ/L. 178 t- CO,

1990 CO, 12,400 t-CO,

1990 CO, 1.4

*1 3-7

*2 3-8

*3 13

*4 14 14 8
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CO,

2000

62,095

41,422
313,195

10m?
100 /m2

1999

27,231
197,914

14,191
115,281

0.813

14
45591

56055 ( 13

11,542
93,761

X

1,750

x 250 /

1,750 /

90.0

39.1

IMJ/

13

1,256

k /

x x 2692.67(MJ/ )

39.1 MJ/L

co,

71.6

CO/MJ

14

8

co,

35.2

co,/

x A

x CO,
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CO,

4,905

39,848

1/20

1990

15

1,750

x 250 /

1,750 /

90.0

39.1

M/

13

534

k /

x x 2692.67(MJ/ )

39.1 MJ/L

20

Co,

0.119

21.183MJ/L

Co,

8.52

CO,/MJ

71.6 CO,/MdJx CO,

co,

1.78

CO,/

x A

x CO,
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CO,

11,542

93,761

1,750

x 250 /

1,750 /

90.0

39.1

M/

13

1,256

k /

x x 2692.67(MJ/ )

39.1 MJ/L

20

Co,

0.119

21.183MJ/L

Co,

8.52

CO,/MJ

71.6 CO,/MJx CO,

co,

4.18
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x A
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